40+ 1 40+8

80+0

40+6 o0+ 3

30+8

o0 +9 0+8

20+8

80+2 60+ 4

N+ 4



3&1’160%90 S&raom S&raom

O unités | 8 unites | 6 unités

g) Lihaimnes Z; Lihaimne! ES Lihaine!

GB L& Z; b4 ES L4

3dubauneu 8d.vammea 9dAIbaA/neu

6 wnités

SdAfbauneu 7d.vammea 7d.vammeu

7 umiktés 5 wnités






80+ 4 30+9 40+ 7
30+6 40+0 o0 +2
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80+3

30+8

40+6

30+0

40+4

o0+ 1

20+6

o0+ #

N+6

80+9

70+8

60+2




GB Lihaine: ZL Lihaine: ES Lihaine:

;Z k4 EB L4 Z; 41

3W 4&16@«/1\9@ SW

7 unités

ZdAlbauneo 8d.vammea 9d.vbouneu

8 wnibés 4 umibés

ES Lihaine: ;Z Lihaimne: 65 Lihaimne:

Sunités | 3 unitss | 8 unités



